sanatisharif.ir

2 v e

s 5 2335 Glash cpadshes o ool (g) cpatapall sl 5 slaps (o) phlool Tt pulie juokss $3gazb ol VAP
I [ D R—— CTTRN. 3L | ——— s
€SI pn s B3 (5 5 3l ¢ saiy a1 | gial (ol g Al gus 5 5 A1 WS Ly~ pe ()
«OPSty o 5 BST 0)ir 3DAl ¢ gats Al | gial ) g ad g g Al oS5 Wby — 51,550 (V
G 5 pa S 5 clalliall fslae 5§ gial G Gy — Ly oo (M
CHEI 5 an S f calliall slae 50 il ol iy — 51 455 (F
28 Ol Sga0 Jl 93l 9 poew Olah 9 (quatds G Ruwdis pil 1 )3 (2) pYl p)Se (o Ri230 1Y
Tl LYY ﬁ,i:; «ol&".g.l L
Sl ) Jooi 9 pmo — Sllae gl (V Olsl ) Lad 9 09351 - Oljslorze ol jlore ()
Olsld dak 9 893l - Colem 9 pdusil Comdaae (I Calad )5 Jomnd 9 po — Caosllo 5 ()b (F

Sl 038 Ol J9S3e 4y o 4T pIaS )5 (40) rwoley 0315 J1)3 Dgwsl b o .1 A

e pa V350 W CSesds 3l Sday ()

WS 83 g AV Al 5 ga o S by (¥

«CRSUR it (g s g U il g Ol (1

sl S gf Caliall gee 5 il ol Gy

I SplsS 4 0)Lal 54 05z )5 OIS 03,55 die 4 ) 52w 9 (5098 Dluass Jolke )5 @l 134
15 (U2) p S paelss s ) Sl

pIre Cualad )3 (Sgudd 9 (o gS Cadew — p3 50 Lyl 9 Cuuzne ()

oo Lo 5 Cume — (502l 00 9 Clae )18 0 sl VU5 (V

pIr0 Ll 5 Casms — 3 00 L )loe 5 Caoes (F

pIre Colad )3 (Sjguds 9 (g8 Suduw — (g 2l 9 Slse ()18 0 sl U (F

s U ((§) e O pam 390 )5 33350 ol ol G 9 OIS (29530 51 (02) p ST pelyy o850 Voo
3, olsS ) o2l ey le.bof}g Jl kS-_’_f'.)nS 4 o Lal

siile oy Cllae — 03 g Culad > Gigwds 9 (SB9S Casew ()

ol S & PJ-:* £ Cuolan s Gigwds 9 (FgS Casuw (¥

OS2 pde — p3 e Llse 5 Cums (W

A.Z.ilaGg Sllse — pI2e Lhlae 9 Canmne (F

G o hol Juol sy Camaseds O b 034ES 19 56l 4 9 2d Gaxo ceninnnen Olej 3 4l g boduw Vo |
Ll (y2) ).a.al:._:_ WA E ).|U"""-f- ) L P L bgs e ‘(&) S Jal joguas

bl 41 (595 Jae CangS> Jo35 - (g) 3L plal ()

bl 4 (590 Jae CaogS> o - (g) @obo plal (¥

culials 5la g8 L1 - () Lo plol (¥

canoliols (5lag Sl L1 - (£) H3U plol (F

4z (y2) pely Caslol 2 I Case giae OUSUEL jl SG Olgie © Cudlal J&5 ) s Jlazsl ol 381 Vo ¥
fenils JWs @ | S

2 el )8 Cuse Juol 0ad Ggel 8 b )le O 3L 5 S OlSl ()

2538 S o laladl Jl8 8 03 0 9 2k 03l ClSs 2o e8] ) pasd e (¥

SH2393 Cadlal (B0 JB 1L 2B 5y Cuse iy o b Yo 4 (padd s 22 b Cuss Olel> (P
B3NS

a3 3929 xdew Olgie U (Sne 9 el Gy Cosm Ollelz @l cawlie byl pb (F




sanatisharif.ir

2 v o ‘]

el U (o) poly mac )IS158 4ol J235 9 ¢ selezl ‘;AJ) 25 33> JS& L cudals 599 ¥
Tl Qlolel puac (Sid )b 9 eloizl (qulaw S Gl I SG IS 4 bgy pe s 5 4e‘«=.albu>b
bl 4 (590 Uae CaegSa fras - Cndlel Yoz g ool B)lee 4o iy o ()
Caslol Joz 3 olhl Ciylae 45 i pond — carslol Jom 3 gollaol B jlae > iy jous (¥
ol Joz 9 (o lol Bylre ) iy po0 - Cibl 4 (90 Uae CaogSo i (P
Caiblo 4 (590 Jae CuogS> Joa - Sl 4 (90 Jae CaogS Lo (F
03 g0 (I3l S 4z 4 iglas « « U SEET A (6 iy &y 00 Ooplie o Vo
333 pa3 Cull 395 lesl 4 S ()
353 5 gl 335 4 1) g9l &S QLT (¥
35391 Olaal (p2) melyy 4 9 €BI3S JUS |) Cudals 45 Sl (P
3385 SgSuw pollis 9 G2 jl gBs )5 45 OUT (F

TR0 GR— 1 s s palb Cully pge diby sl pxl sl (8) Guegaane Lol )38 Olaids Yo d
.Ax;'al._:sa .................. f@d@«(&)l”d,ﬂ)@)ﬂ@b)%ﬁé}b'P.:lm}'»

(02) SV gy Cams = Oldagal buwss (i )8 Ol 9 OB pee (s 02 ()

(U2) ST Jgmwy S poed = (42) paaley 33 (S5 g panne I Caal (5 a2y 7905 (V
Lode pod (o) polyy 3909 — 315 Oliads 9 QUSLEaee b (g) il sla S (W
(UP) ol buwgi S pud 3 — (§) 45l Caslel Glino o (oWl CasgS> FaxT pas (F

Vof.A: How .cannaeee. sugar do you want?

5 —— .My mother is going to bake a cake for my birthday party.
) ) much / two bags ¥)much / abag of
Y)many / some ¥)many / akilo

¥ oV.The fire destroyed the whole city and they say the damage is about .................. :
1 y three billion, seventy five million dollars

V') three- billion and seventy-five million dollars

) three billion seventy five million dollars

¥) three billion and seventy-five million dollars

¥ oA. Which one is grammatically WRONG?
1 ) How much information do you need?

¥)I asked him to give me a piece of cake.

) She says she needs 1V birthday candle.

¥) There are two bottles of water on the table.

- . IOE— people think he is shy, but he’s actually quite talkative.
1)A lot V) Few ¥) A lot of ¥)Much
¥ 1o.The two English course books cover .................. information, but pre-university students
donotspend s time to reading them.
)y many - much ¥)alotof - much
¥) many - a lot of ¥)alot of - many
¥11.How long does it take for the Moon to orbit a full .................. around the Earth .
) ) fact V)circle V) pair ¥)surf
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¥ 1 7. To make better the quality of the goods , all the old machines in the factory must be

repaired ......coeoeene. .
) ) honestly V) fortunately V) carelessly ¥) frequently
¥ 1. The same thoughts kept going through my .................. and I couldn't get to sleep.
} ) brain V) access ¥)media ¥) mind
Yir. Theteacher o the students as they got on to the bus.
} ) experienced V) researched
¥)endangered ¥)counted
¥10.Any language is learned with constant .................. That's a fact!
) ) practice V) entertainment ¥) difference ¥) experience
¥ 1. Although she bored all the students with her long speech about her journeys , she made
SOME INTETESHNG . ccinasacnns on the real life of foreign people.
} ) choices V') points V) phrases ¥) periods
¥1V.A:“What was that sound? I think there’s someone in the house!”’
B: “I don’t think so. You’re just .......cceeeee.. things.”
) yexperiencing V) watching V) imagining ¥) describing
¥1A.I was warned to .......cee.... some particular foods; or [ may suffer a terrible heart attack

in near future.
1) Fill out V) keep off V) pass away ¥) grow up
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